3a[aym o rotoBbIM YepTeXKam

« Tpaneyna»



[OaHo: ABCD — tpaneuus.
HanTn: Hen3BeCTHbIE YIMbl Tpaneymm

30°




[OaHo: ABCD — tpaneuwus. BKICD.
HanTn: Hen3BeCTHbIE YIMbl Tpaneymmn

70°

50°



[OaHo: ABCD — tpaneuus.
Hauntu: AD




[OaHo: ABCD — tpaneuus.
Hantun: £B.



[OaHo: ABCD — tpaneuuns. AD=7
Hantu: CD



[aHo: ABCD - Tpaneuusa P(ABCD)=35 cm
Hantun: AB




[OaHo: ABCD — Tpaneuus. AD=7
Hawntn: P(ABCD)




[OaHo: ABCD — tpaneuus.
Hantu: AD



[OaHo: ABCD — tpaneuus. AD=8
HanTtu: HanbdonbLnm yron Tpaneymm



